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1. Answer the following questions as directed :

fitars a{EF< fuaT{fmEq fls :

(a) Is the set a={xlx<x\ a null set ?

A = {, I x < x} aRa<GF ft fis qi$a

1x8=8

ufils' 'ol=0, xfi.ftorrrr
l2 4l

(c) What is the difference between permutation and combination ?

ft:{rH € q:T<fcs{ "ffcfu ftt
(d.) The marks scored by 7 students are -

7 6 q-q-ffimr{T{cral -
40, 42,38, 45, 50, 52, 55

Find Median.
{(m fifr +r<tt

(e) Write True or False :

e5 ilqsh 6qc{l 3

A.M.<G.M.<H'M.
ryfs'{ T|{, < erflq{ {l{l < 6lsFF ${l I

A What is the S.D. of two values I and 4 ?

8 ,sK( 4-,s{^d$6t fr[ifu qa fit
@) What do You mean bY combination ?

fiqltq <-d'ls fi rqc<rtt

(h) Fill in the blank :

IJrEtI $q 1r{1 3

An(Buc)= (AnB) (anc)
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2. Answer the following questions in brief : 2,5=10
6ra1g q{eBR r.cral bs< cry(qt B

{o/ Distinguish between {0 }, O ,oa lO\.

{o }, p c<r {p }-e< +f+r Ru< om r

fb/ Find 'n', if 2"ca:"c"=44,3.

'n' Ffi om, sfr '"cr, "c, = 44, 3 1

(c.l In what time will Rs.2100 amount to Rs.2835 at 10% p.a. S.I.?
os n'm oqrfr<F 10% c-:rE {m 2ioo BIoI ccfra 2835 tfq qc< ?

/d/ Using the property of determinant, prove that

I o 3 sl
l-. o zl=0.lt
l-s -2 ol

F.l].{rc {{ err{ln <r'(n c:rlq a{i{ c{,

I o 3 si
l-. , zl=ortll-s -2 0l

(e,l Mention trro advantages anrl nuo disadvantages of A.M.
l:[s3r ft$n fE lF{ q{( 16v1fto E-ml q.<r 

r

\
3, The difference in simple interest on Rs.145O at 57o p.a. and on

Rs.l2SO at the same rate for the same time is Rs.135. Find the
time. 3

atscft-s 5% {F {d$r 1450 iFFF Ttrd {r \q<i w]n {,i q<i 4ffd rrr{ {n$r
r25o AsFr qrd IrE< efi?fu 135 iRrt r rfi fi.ft orat r

4. Find 'n' and'r', il - 3

'n' .rFt( 'r'.s{ :ni' fi.fu or"<t, <fi -
"p, = togo, "c, =zo .
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s. rf ({fr)

U ={2,9,5,7,t1fS},
e={5,7,13},

. B = {3,7,11, 13 },
show that (fiqts F)

(aUBf =A"ffl" 3

6. If, ({fr)

I z 6 -slA=i I

l-+ 2 8l'

[a o -slB=l- I

L6 -1 2)'

rind (fifi orst)
35A-38=?

oR twt{I
Find 'x' and 'A', if
'x' ,{<( 'y'*q< ${ fitfr TCil, {fr

{ ;1.,r;l =[]:l 3

7. Calculate mean deviation from mean from the given data : 3

frrfls E-cqr< qrqm lt{i ccl-GF trv R[j& fiqt qa a

6,9, L2, L5, 18

8. A man deposits Rs.12OO in a bank at the end of each year @ 5o/o

p.a.C.I.Whatwouldbehisdepositafter15years?5
(Given (1'05)ts = 2'0789)

qsgFmpqffi<JImerFI$<w{6"rqaqqR-s5%E-qfrT[ql2ooBlatqq[

<5G1, 15 <q 'K \5K slTt qFI ss E[{? (Che$ \TEq (1'O51ts = !'0789)
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q- A .ertain sum of money at a certain rate compounded annually
amount to Rs.882O in 2 year:s and Rs.9261 in 3 years. Find the
rate of interest and the principal. 5

corfi {rm .4T fiff& {(!1R-$ Eqfr Ti 2 <qF 8820 iF$t ,s{( 3 <{n 9261

Ero <a r 1m< qn s<( {ofi fif{ sml r

10. Draw the graph ol i (ang one)
(61 q6n TKI 3 (C4 Fltal ,ffi)

,i1 x+2y-20>O'' 3x+ A -12 <O

(iU 3s -2x <6
x+g>5
x+29>4
g<4

5

In the expansion

value of 'a'.

, the term free from x is 5376. Find the

5

11.

fr-sr6{ x-RAa qcB {qt sazo r 'a:.s lnr fi6 <rfir

12. In a meeting, after everyone had shalen hands witlt everyone else,

it was found tiat 105 handshakes were exchanged. How many
persons were present at the meeting ? 5

,!rrB caE gFIr$ glFirGI {ltf ql6 qr< ,Rr cq{ oq c{r, 1os <t< Gr6
qr(qr qsrBF fiF <r& N-w fu?

oR / wt/?I
A box contains 6 white, 4 red and 7 green balls, In how many ways
cal you draw - 5

[i/ 4 white and 3 red
/iil 3 balls of the same colour ?
q{il {rs 6 fr fifl, 4 fr EH ,s( 7 ft rfq {a qqrffiiF{ B,itrs VF tFF ,lFR -
0 4 Frl4-l ,!r<( 3 fi4FI{d
(i, 3 E ,${t fl6 {6 ?

(* -9'

/ z a)e
\ x,/
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13. If (Ifi) f(x) = x2 +7x+t2

when (rFFI)

Ir 2 tlttA=lo , -,1
L3 -1 U

5

oR I qq4t
l'

. I, " class of 5O students, 24 students have talien Adv. Maths, 16
have taken Adv. Maths but not Geography. Find the no. of students
who have taken both Adv. Maths and Geography. 5
,eEE cfr so w soqfi< rrr 24 w bmxflE frRrE, 16 w Effifis fr[refu
yrrm oafi r Ewafqv ,{<r yzrfid [6 @ ficn(E, ,ffi4 fiE qq{6? qi$T fifr ra<l I

15. (a/ The A.M. and H.M, of two numbers are 10 and 6.4 respectively.
Find the numbers and their G.M. 4

5

1fr aiair< mm at<r q<\ €lyFF ll<I {{r€'a{ 10 q<( 6.4 I iirfi Efr T[q

find /(A)
t /(A).s{ nl4 fi'f{ {til 1

oR/ ctr{/

Solve using Cramer's Rule :

cEalt[({ fr'{n <rQr ffi Cfl{F sa :

3x+Y+22=3
2x-3A-z=-3
x+2V+z=4

14. rf ({fi)
A = \r,2,3,4\
B = 12,4,6, e1
c={3,4,s,61
prove ttrat (a{H oC{l C{)

Au(Bnc)=(AuB)n(Auc).

sI(Bt s7.6t1EF :rf$ fi.F{ $r_q I
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(bi Find the median of the following data : 4
firfls vrqu< lq,ll fi.fu <rc{ c

Class : 101-200 201-300 301-400 401-500 501-600 601-700

cqft :
Frequency; 8 10 15 6 3 2

{fr{r{I c

16. Catculate standard devi6.tion and coeflicient of variation from t}te
following data : 4+4-8
firRE se[ 6qrs r]TsFEfi .ER efrm.t s.ttlt ffi <qm :

' Class (c4ft) : 0-6 G12 12-18 tu24 2+30 30-36
Frequcnqy ({frIilo : 12 24 38 52 34 19

L7. (a) A bag contains 10 white, 6 red, 4 black and 7 btue balls. 5
balls are drawn randomly. What is tie probability that 2 of
them are red and I is black ? 4
,s-{ft {fr(g 10 F {n,6 fi dl6,4 fr fics'r q{i 7 F ftd rd qftqt sR
cq6r 5 6 {d rtlfu<l scfcqr stn cn€$qratt2 E EFi sri 1 F rrfrdt
<GI Q€{EI TI']<]EI N?

/bJ What is the probability that a leap year selected at random
will contain 53 Sundays ? ' 4
{Ufut(< a rqrdfFrqlgfr< 6{snt ,qsB qfui ss 6 ffi{a 4exF
qsFl]sl so?

OR / '4!kI
State the mathematical dgfinition
limitations ?

of probability. What are its
4

{sK,qr flfifu c{el 6a6111 q ffiqefr ff ffr
18. l/4, What arc the dilferent types of correlation ? 2

T{r{{[R fiEe ra-+ofr ff ffl
[b,l Catculate Kar[ Pearson's correlation coefficient from the

following data : 6
FTfiE \5qJ 6{r+ sH ffi;K {+T?s s$6 fiof* srfl s

x'. 2 6 8 10 14 16 20
. g: 1 3 4 5 7 I 10

-x
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